atl1*CurMon:Entry$
1L
ae b |
T 200 250 30¢ 450
Entry$

run6249 000 at atl1.png

x10°

5000

4000

3000

2000

1000

atl1*CurMon {ErrorFlag==0}

evtlree
Entries 86731
Mean 3.751

Std Dev 0.02575

3.65

3.7

3.75

3.8 3.85
atl1*CurMon

10000

5000

-5000

10000

asym_atl1/ppm:pattern_number {ErrorFlag==0}

; T S B
D_ - I1|lffll2|flliflllil | IEIlelleID | IBIDlillDIDI I-rilllifllflfllifllliil | |5|m|m|n |

pattern_number

asym_atl1

220

200

180

160

140

120

100

)

Entries 21645
Mean 19.7
Std Dev 1584
Underflow 2684
Overflow 2593

il

i
1

-3000

-2000

—-1000

0

1000

2000

3000
ppm




atl2*CurMon:Entry$

atl2*CurMon

il -8
run6249 000 at atl2.png

0

450
Entry$

x10°

7000

6000

5000

4000

3000

2000

1000

atl2*CurMon {ErrorFlag==0}

i b |

evilree

Entries 86731

Mean 7.018

Std Dev  0.1423

'u-_-'_llllllllllllll|IIII|IIII|IIII|IIII|

|
5

.8

6

6.2 64 66 6.8

7

72 74 78
atl2*CurMon

30000

20000

10000

10000 ]

20000

30000

asym_atl2/ppm:pattern_number {ErrorFlag==0}

| ot

- s
B ¥ s
_ ﬁnn %§%EKEZH % %E
4 ~ AR e S
- .

_I [ 1 | | 1 1 1 | L1 1 1 | I 1 1 1 | I 1 1 1 | |
0 10000 20000 30000 40000 50000

pattern_number

asym_atl2
m Entries 21645
i Mean 4.764
110
i Std Dev 1691
100 B J | Underflow 6465
) [ Overflow 6443
90 JllJ- L J n ﬂ
80/t : [ J
i e J h
70 - :
:I | I | | | I I | | L1 1 1 | I-I | | L1 1 1 | | I I |
-3000 -2000 —1000 0 1000 2000 3000
ppm




atr1*CurMon:Entry$

=

o

=

=

=

-]

*

— i

-+ o

(4! ’ 3
AR e
K A

i

AP
. A
. 3
i 1'
T

K
o
HE
al
2l £l
1 | L
H i i
| e
A 3
[ b

- 50 100 . fu 0 .u
run6249 000 at atrl.png

450
Entry$

x10°

3500

3000

2500

2000

1500

1000

500

atr1*CurMon {ErrorFlag==0}

III|LII_L|I

evilree
Entries 86731
Mean 5.711

Std Dev 0.04431

5.5 555 5.

l
8 585 59

atr1*CurMon

asym_atr1/ppm:pattern_number {ErrorFlag==0}

10000 v % % x
N KR KH ixiﬁ xéﬁ d
5000+
D% si=l=iul=lel= Sl SISi=lS E:HH =
5000 k-
i XX X égx % X % x%
B o et . How KK «
10000 : y
| I I | | I I | | | | | | | | | | 1
0 10000 20000 30000 40000 50000

pattern_number

asym_atri

B Entries 21645
220~ Mean 20.44

I Std Dev 1618
200~

I [ Underflow 3030
180~ h Overflow 3036
160
140 L JLPmHI
120k
100

L1 | | I | | | | I | | | | I
3000 -2000 —1000 O 1000 2000 _ 3000

ppm




atr2*CurMon:Entry$

atr2*CurMon

o 100 0 300
run6249 000 at atr2.png

100 450
Entry$

x10°

8000

7000

6000

5000

4000

3000

2000

1000

atr2*CurMon {ErrorFlag==0}

|J_II|I_II|III|

evilree

Entries 86731
Mean 3.731

Std Dev  0.1108

26 2.8 3 3.2

38 4 42

atr2*CurMon

40000

20000H

20000

40000

asym_atr2/ppm:pattern_number {ErrorFlag==0}

i o

- y x

| XX s s

- ¥ x ST X

N UL T

- %-' Kx%xix s X

B x ”

I x
|||||||||||||||||||||||||||

10000 20000 30000 40000 50000

0

pattern_number

asym_atr2

- Entries 21645
70

N Mean 3564
it h A I | staDev 1742
60{H | |4 [ Nj Underflow 8082

i I ]
55 (I sl _ Overflow 8007

- L HJ T
Er |
45~ _l 1
40
351

:I | I | | | I I | | L1 1 1 | ] _I | | L1 1 1 | | I I |
~3000 -2000 -1000 0 1000 2000 3000

ppm




asym_atll

asym_atl2

asym_atrl

asym_atr2

run6249 000

0.01 -
0.005
D_
0.005
-0.01
i 1 | | 1 | | | | | | 1 | | | | | 1 | | | | | | |
~0.01  -0.005 0 0.005 0.01
asym_atll
. 0.03F .
| N O
0.02
0.01F
ok
—0.01
B [ |
-0.021
-0.03-
i 11 | 1 | 1 1 | | | 1 | | | | | 1 | | | | | | |
~0.01  -0.005 0 0.005 0.01
asym_atl
0.01
0.005 =
oL = I
- N
-0.005
~0.01
| 11 | 1 | 1 1 | | | 1 | | | | | 1 | | | | | | |
-0.01  -0.005 0 0.005 0.01
asym_atll
" 0.04F
[ O
n.nz_— -
B [ |
- O
D_
—0.02\-
~0.041—
: B
| 1
—um DGDE 0.005 0.01

asym at m

s

200

18(

16(

14(

25(

20(

18(

16(

14(

12C

25(

200

asym_atl2

0.01
| —o5¢
| B
0.005\— N _onc
ol 15(
- 10¢
_0.005-
| 50
—0.01
B O
_II|IIII|IIII|IIII|IIII|IIII|IIIIII D
—0.03 -0.02 -001 O 0.01 0.02 003
asym_atl2
o 0.03 n _los¢
n.nz:—
- —20¢
0.01F
- 15¢
D_
~0.01F 10(
—0.02
- 50¢
-0.03[
[ |IIII|IIII|IIII|IIII|IIII|IIIIII D
003 —002 —0.01 0 0.01 0.02 003
asym_atl2
0.01— - 22¢
n 201
n —18¢
0.005/—
n . _116¢
i N 14¢
0 12¢
n 10¢
| W
, 80
_0.005
n &0
i 40
—0.01 20
_IllIIII|IIII|IIII|IIII|IIII|IIIIII D
—0.03 -0.02 -001 O 0.01 0.02 003
asym_atl2
B [ |
" 0.04 o _lgoc
- —50¢
0.02\—
D_
_p.02
_0.04 10¢
=
II|IIII|IIII|IIII|IIII|IIII|IIIIII

802 —0.01

“correlation-

COEZ.png

0.01 —[18¢
- —16¢
0.005 14
- —12¢
|:| |
0.005—
—0.01 20
i 1 | | | | 1 | | | | 1 | | | 1 | | | | 1 | | D
—0.01 —0.005 0 0.005 0.01
asym_atri
0.03
| - —on¢
] B . .
- —l20¢
0.02
- 18
0.01 . —16(
- 14¢
O 12¢
10¢
—0.01
- 80
~0.02 60
B 40
-0.03F . 20
[ | | | | | | | | | | | | | | | | | | | | | | D
—0.01 —0.005 0 0.005 0.01
asym_atr1
| —18¢
0.01—
I 8¢
: —14¢
0.005|—
i {2
- 10¢
D |
i 80(
- 80C
_0.005—
i 40(
—0.01 20
| 1 | | | | 1 | | | | 1 | | | 1 | | | | 1 | | D
—0.01 —0.005 0 0.005 0.01
asym_atri
B —22¢
| [ |
0.04
. i H —l20¢
] —18(
0.02 e
- 14¢
0} 12¢
I 10¢
—0.02 80
i 60
- 40
—0.04—
: = 20
1 | | | | 1 | | | | 1 | | | 1 | | | | 1 | | D
—0.01 —0.005 0 0.005 0.01
asym_atri

asym_atr2

0.01—

0.005

-0.005—

-001—m

-0.02 0 0.02 0.04
asym_atr2

-0.04

asym_atr2

. 0.03

0.02

0.01

-0.01

-0.02

-0.03

=
II|IIII|IIII|IIII|IIII|IIII|IIII|I

l
-0.04 -0.02 0 0.02 0.04
asym_atr2

asym_atr2

0.01—

0.005—

-0.005—

-0.01

1
-0.04 -0.02 0 0.02 0.04

asym_atr2

asym_atr2

" 0.04 "

0.02—

-0.02—

-0.04—

1
-0.04 -0.02 0 0.02 0.04

asym_atr2

25(

200

15(

10C¢

50

60(

50C

22(

200

18(

16(

24(
22(
200
18
16(




asym_atll

asym_atl2

asym_atrl

asym_atr2

run6249 000 asym

asym_atll

12 [ ndf

p0 4.015e-07 £ 5.157e-07

46.93 / 38

p1 0.9988 = 0.0002
D -
0.005 y
0.0t _ 7
| | I_ | | | | | | | | | | | | | | | | | | 1 | | | |
—0.01  -0.005 0 0.005  0.01
¥2 | ndf 25.15 /38 -
p0  —B.774e-D6 + 3.6246-05 _ }
p1 0.7/153 £ 0.0160 ﬂi-w {
i
Cor factor 0.3375 M f -
hl»mﬁﬂﬂﬂﬂf
—0.01 } {
~0.02\-
~0.03}-
| l l | 1 l l | 1 1 | l l 1 | l 11 l | l l
—0.01  -0.005 0 0.005  0.01
n.m::uy ==
_ ¥2 { ndf 36.79 / 38
0.003— po 1.08¢-05 + 1.94e-05
E p1 —0.0004488 + 0.0086272
0.002
_ Cor factor 0.0059
0.001 i |
3 AT L
of || W&%ﬁ%i
-0.001F } }
0.002 "
[ 1 1 _l 11 1 1 | 11 11 | 1 1 11 | 1 1 1 1 | 1 1
—0.01  -0.005 0 0.005  0.01
¥2 | ndf 18.52/ 38 -
p0  -2.834e-05 + 5.915e-05 ]L
1 1.259 + 0.026 h"} *
g ++++ﬁ+ﬂ
Cor factor 0.3603 /f"*ﬁ _
C - +W‘/
~0.01F }[ I t
_0.02 H
-0.03
-0.04
a DLDE __I 1 _l 11 1 1 | 11 11 | 1 1 11 | 1 1 1 1

~at m

—-0.01 —0.005

utua

0.005

1 | 1
0.01

asym_atl2

¥/ ndf 22.78 /30
p0 8.364e-06 + 1.680e-05 o
p1 0.1547 + 0.0034 H}
it {—
Cor factor 0.3375 j[
o
-0.002 t
- } fd
-0.004 }
-0.006 _
~0.008
-0.01 _
'III|IIII|IIII|IIII|IIII|IIII|IIIIII

-0.03 -0.02 -0.01 0 0.01 0.02 0.03

w2 [ ndf 24.31 /30 -
po 1.175e—06 + 1.424e-06 = i
p1 0.9988 + 0.0003 =
o
_0.01 L
-0.02F o
-0.03
‘IIIlIIII|IIII|IIII|IIII|IIII|IIII|I

-0.03 -0.02 -0.01 0 0.01 0.02 0.03

2 { ndf 35.13/ 30 -
p0 1.359e-05 + 1.931e-05
b
p1 0.0304 + 0.0039 }
.I.
Cor factor 0.0645 ¥ HJrJr
- i HHT M _
-0.002 ]L
-0.004— t
-0.006
_0.008 _
_III||||||||||||||||||||||||||||IIII
-0.03 -0.02 -0.01 0 0.01 0.02 0.03
¥2 { ndf 2451/ 30 -
p0 —7.869e—07 + 2.900=—05 t
p1 1.465 + 0.006 +‘+JJ
o
Cor factor 0.8894 -
D_
i +
_0.02 ﬁf
i K
i -
—0.04+—
_|||_||||||||||||||||||||||||||||IIII

correlation-fit. pne

¥/ ndf 33.53/42
pO —4.127e—06 + 1.7942-05
p1 0.007033 = 0.007282
Cor factor 0.0059 \\ H

- LR R '

T Hwﬂ T f
—0.001F Y] ]
-0.002-

-0.003F
0004 | | | | |_
-0.01  -0.005 0 0.005 0.01

asym_atrl

¥2 / ndf 43.07 / 42

pO ~3.28e 05 + 3.85e 05

p1 01287 + 0.0156

Cor factor 0.0645 {

: Hy i

0f— - f -

: M MW f
~0.005|- J )
—0.01-

_I | | L1 1 1 | 1 1 ] | ] I 1 | ]

-0.01  -0.005 0 0.005 0.01
%%/ ndf 46.24 / 42 e
p0  —6.091e-07 = 5.035e—-07 =
p1 0.9995 + 0.0002
D -
-0.005 .
-0.01 _ &
_I 1 | I I | | 1 1 1 1 | 1 I 1 1 |
-0.01  -0.005 0 0.005 0.01
%2 { ndf 47.58 / 42
B0 —4.947e-05 + 6.347e-05
p1 0.1313 £ 0.0260
Cor factor 0.0359

i ‘ I h * _

oL Hl W%%*HH

S H ]d} } T
0.005F '
-0.01
-0.015
_DLGE:l-Illlllllllll T I |_

-0.01 —-0.005

0

¥ ndf 17.16 / 31 -
p0 6.878e—06 + 1.665e—05 T
p1 0.09998 + 0.00204 m )
Cor factor 0.3603 {HHH
0F
B }{-
-0.002 1
. 1[ g
-0.004 )
-0.008 _ k
-0.0081
—-0.01F _
1 | | | | 1 | | | | | 1 | | | | | I | |
-0.04 -0.02 0 0.02 0.04
¥2 ¢ ndf 35.16/ 31 -
p0 —4.703e—06 + 1.763s05 -
p1 0.54 + 0.00 W,
it
Cor factor 0.8894 "
o
-0.01— -
B 44-14'+++
~0.02| -
-0.03
— 1 l l | l | l | l l | | l l | l l I l l
-0.04 -0.02 0 0.02 0.04
¥ { ndf 21.93 /31 -
p0 1.042e05 + 1.933205 )
p1 0.01209 + 0.00234 { -
Cor factor 0.0359 i+i|| JFM
N | H L1 SR f j[
-0.002 }[ '
-0.004 —
-0.006— k
~0.008— i
| 1 1 | 1 1 1 | 1 1 | 1 1 1 | 1 1 I 1 1
-0.04 -0.02 0 0.02 0.04
0.04—
B Entries 21645
0.02 __ < Mean -3.078e -05
B Meany -3.078e -05
D -
i Std Dev  0.008137
i Std D
—0N.02 = td Devy 0.009137
_0.04 )
_I I_ 1 | 1 1 1 | 1 1 | 1 1 1 | 1 1 I 1 1
-0.04 -0.02 0 0.02 0.04




asym_atll

asym_atl2

asym_atrl

asym_atr2

run6249 000

asym_atll

0.01—

0.005

-0.005—

-0.01—

asym_atl1l

0 0.005

0.01
asym_atll

. 0.03F

0.02—

0.01—

-0.01

-0.02—

-0.03—

-0.01 —-0.005

asym_atl1l

0 0.005

0.01
asym_atl1

0.01—

0.005—

-0.005—

-0.01

-0.01 —-0.005

asym_atl1l

0 0.005

0.01
asym_atll

" 0.04

0.02—

-0.02—

-0.04—

D D1 D 005

asym

0.005

at mutualﬁﬁ“ﬂl‘t‘:orre

asym_atl2

0.01—

0.005

-0.005—

-0.01—

-0.03 -0.02 -0.01 0 0.01 002 0.03
asym_atl2

asym_atl2

. 0.03F

0.02

0.01—

-0.01
-0.02—

-0.03—

L1
-0.03 -0.02 -0.01 0 0.01 002 003
asym_atl?

asym_atl2

0.01—

0.005—

-0.005—

-0.01

1 1
-0.03 -0.02 -0.01 0 0.01 0.02 0.03
asym_atl2

asym_atl2

" 0.04

0.02—

-0.02—

-0.04—

l D DB QDE D D1 D D‘I DE D 03

ation-sca .png

asym_atrl

0.01—

0.005

-0.005—

-0.01—

—0.01 —-0.005 0 0.005 0.01
asym_atri

0.02—

0.01—

-0.01

-0.02—

-0.03—

—0.01 —0.005 0 0.005 0.01
asym_atri

asym_atrl

0.01

0.005—

-0.005—

-0.01

—-0.01 —-0.005 0 0.005 0.01
asym_atri

asym_atrl

" 0.04

0.02—

-0.02—

-0.04—

—-0.01 —-0.005 0 0.005 0.01
asym_atri

asym_atr2

0.01—

0.005

-0.005—

-0.01 .

-0.04 -0.02 0 0.02 0.04
asym_atr2

asym_atr2

. 0.03F

0.02—

0.01—

-0.01

-0.02—

~0.03

-0.04 -0.02 0 0.02 0.04
asym_atr2

asym_atr2

0.01—

0.005—

-0.005—

-0.01

-0.04 -0.02 0 0.02 0.04
asym_atr2

asym_atr2

" 0.04

0.02—

-0.02—

-0.04—

-0.04 -0.02 0 0.02 0.04
asym_atr2




